
1815

U-Type Spring Nut

●	Material	＝ carbon steel	 Hardness＝ HRC40~50	 Finish＝ black oxide or Zinc plating
●	Material	＝ stainless steel

Unit：mm

Installed

W

t

T boss

Float
P boss

Screw

Nut
Panel

HF (Upper panel hole)

H (Lower panel hole)

P

B

A

L

Nut

Size-No. Applicable 
screw

Nut Panel Remarks

W L A t P B H HF Material Boss FloatMin. Max. Min.
USN- 3001 M3 x 0.5 11.2 18 9 0.3 0.6 1 7.5 4 5.5 T

3006 M3 x 0.5 8 11.5 6 0.3 0.6 1.2 4.5 4 4 SUS P Without

3012 M3 - 24 8 11.5 6 0.45 0.6 1.2 4.5 4 4 SUS P Without

4001 M4 x 0.7 12.7 20 10 0.4 0.7 1.2 8 5 7 T

4003 M4 x 0.7 9 16.5 10 0.4 0.7 1.2 8.5 5 6 P Without

4004 M4 - 16 12.7 20 10 0.8 0.8 1.5 8 5 7 T

4005 M4 - 16 12.7 20 10 0.8 1 1.6 8 5 6 SUS P Without

4006 M4 - 16 11 16.3 8.3 0.6 1 1.6 6.5 5 7 T

4007 M4 - 16 12.7 20 13 0.45 2 2.7 10 5 6 T Without

4024 M4 - 16 11 17 9.1 0.6 0.7 1.6 7 5 7 T

4026 M4 - 16 11 16 8 0.5 2 2.5 6 5 7 SUS P

4031 M4 - 18 9 19 13 0.45 2 3 10.5 5 6 P Without

4037 M4 x 0.7 9 18 12 0.4 1 1.2 10 5 6 SUS P Without

4048 M4 - 16 11 24 17 0.6 0.7 1.6 14.5 5 7 T

5001 M5 x 0.8 12.7 20 10 0.45 0.7 1.2 8 6.5 8 T

5003 M5 - 12 13 20 11.5 0.7 1 2.3 9.5 6.5 7 T Without

5004 M5 - 16 13 19.6 11.6 0.6 0.7 1.5 9.5 6.5 8 P

5008 M5 - 16 12.7 32.2 22.2 0.7 1 2.6 19 6.5 8 SUS P

5011 M5 - 16 8 16 9 0.6 0.7 1.6 7 6.5 7 P

5016 M5 - 16 12.7 16.2 8.7 0.7 0.8 1.6 7 6.5 6.5 T Without

5017 M5 x 0.8 12.7 21 11.5 0.4 1.3 2 9 6.5 6.5 T Without

5018 M5 - 16 13 20 10 0.7 1.2 1.6 8 6.5 6.5 P Without

6001 M6 x 1 12.7 20 10 0.5 0.7 1.2 8 7.5 9.5 T

6002 M6 - 10 12.7 21.8 11.8 0.8 0.7 1.2 10 7.5 7.5 P Without


